Thursday

5 6P 67P so could have circled

50p 10p 2p 2p 2p Ip

The odd one out is C because it 8p is not a coin. However both teachers would accept these
reasons A because it uses 3 coins to make the whole amount/uses bronze coins and the others are all silver OR D because

the whole amount has 3 tens when A, B and C are all in the twenties.

A B C D

23p = 20p, 2p, Ip 25p = 20p, 5p 28p = 20p, 8p 30p = 20p, 10p

5) ||p = |Op and |p (most efficient) or 5 x 2p and lp for example.
6) |7p = |Op 5p and, ZP (most efficient) or 3 x 5p and. 2p for example.
/) 32[:) = ZOP, |Op and 2p (most efficient) o~ 3 x I0p and 2p for example

« There are different ways to do these, check with your parents to see if you are correct.«

8) Match the 0 . @

amounts that are

equal.

q) Miss Burnett Says ...
Do you agree? | agree/ disagree because to make 3p

You need a 2p and a lp which are both bronze coins.




